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Question:

ABCD S{EIEAH, EE2AD LH—25 EAED ZfE; F22 CD ERIEL £ C
Ed D 2, TiHE BF *E% EBC, & AE=2, CF=3, K EB,

A 2 E D

(BRI IEEMPT 5T
C 2016)




Solution to the question

4tan @
= AB = 2tan28 = ——
tan @ 1 —tan?@

<sol> BC —

3 4tan 8
tan® 1—tanZ@

3 4tan @
tan® 1—tanZ@

3 —3tan? @ = 4tan? @

2 _3
tan9—7

tan@ = 3
So tan —7

so BE =+ AB% + AE?2 =

3
(—3)2+22=\/21+4=5~

33




Question:

ABCD 2{EIEAH, EZ2AD LH—25 EAED ZfE; F22 CD ERIEL 7EC

ElD 2, MiE BF EE2D EBC, EAE= a, CF=b, %88 :BE=a+b,

A @ E D




Solution to the question

a=scot206, b=stanb, EBF=CBF=0

&l A& cot20 =1-t%2t, t=tan®B, #a/s = 1-t%2t = 1-(b/s)¥2(b/s) = s>~b%2bs,

Bll2abs=s3-sb?, FH}Xs#0, #2ab=s2-b?

BI|EB?=a%+s2=a%+2ab+b?=(a+b)?

M EB=a+b=AE+CF




Another Solution

A{EEFRHE N AABCD=s’
Bllsa/2+sb/2+(s-a)(s-b)/2+b(s?+a?)/2=52
HEATIE B %  Gs?=b%+ 2ab
EB2=a?+s2=a’+b*+2ab=(a+b)?

EB=a+b

ABAE=sa/2 ABCF=sb/2 AEDF=(s—a)(s—b)/2 AEBF=bV(s*+a2)/2

b




Questions and answer contest with no prizes

1.45ADMM £ A IEHBEREEADE &, AEBRE=?

2.45ADRI T EREFEDESR, §H AAD I SBEEAD'FIEELAE', HEFEBE'=?
A 2 E D







